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dqy iz’uksa dh la[;k % 26            dqy i`"Bksa dh la[;k % 12 

Total No. of Questions: 26  Total No. of Pages: 12 

gkbZ Ldwy ijh{kk] twu & 2018gkbZ Ldwy ijh{kk] twu & 2018gkbZ Ldwy ijh{kk] twu & 2018gkbZ Ldwy ijh{kk] twu & 2018 

211 
fo"k; % xf.krfo"k; % xf.krfo"k; % xf.krfo"k; % xf.kr    

Subject: MATHEMATICS 

(Hindi & English Versions) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time: 03 Hours  Maximum Marks: 100 

    
funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&     

    (i) lHkh ÁlHkh ÁlHkh ÁlHkh Á’u djuk vfuok;Z gS’u djuk vfuok;Z gS’u djuk vfuok;Z gS’u djuk vfuok;Z gSaa aaAAAA    

 (ii) ÁR;sd Á’u dks lko/kkuh iwoZd if<+,AÁR;sd Á’u dks lko/kkuh iwoZd if<+,AÁR;sd Á’u dks lko/kkuh iwoZd if<+,AÁR;sd Á’u dks lko/kkuh iwoZd if<+,A    

 (iii) Á’u Øekad 1 ls 5 rdÁ’u Øekad 1 ls 5 rdÁ’u Øekad 1 ls 5 rdÁ’u Øekad 1 ls 5 rd    oLrqfu"B Ádkj ds Á’u gSoLrqfu"B Ádkj ds Á’u gSoLrqfu"B Ádkj ds Á’u gSoLrqfu"B Ádkj ds Á’u gSaa aaA funsZ’kA funsZ’kA funsZ’kA funsZ’kkuqlkj gy dhft,Akuqlkj gy dhft,Akuqlkj gy dhft,Akuqlkj gy dhft,A    

    (iv) Á’u Øekad 6 ls 26 esa vkarfjd fodYi fn,s x;s gSÁ’u Øekad 6 ls 26 esa vkarfjd fodYi fn,s x;s gSÁ’u Øekad 6 ls 26 esa vkarfjd fodYi fn,s x;s gSÁ’u Øekad 6 ls 26 esa vkarfjd fodYi fn,s x;s gSaa aaAAAA    

    (v) ÁR;sd Á’u ds fy, vkÁR;sd Á’u ds fy, vkÁR;sd Á’u ds fy, vkÁR;sd Á’u ds fy, vkooooafVr vad mlds lEeq[k gSafVr vad mlds lEeq[k gSafVr vad mlds lEeq[k gSafVr vad mlds lEeq[k gSaa aaAAAA    

Instructions:- 

  (i) All questions are compulsory. 

 (ii) Read each question carefully. 

 (iii) Q.  Nos. 1 to 5 are objective type questions. Do as directed.  

 (iv) Internal options are given in Q. Nos.  6 to 26.  

          (v) Marks allotted to each question are mentioned against each question. 
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iz-1 lgh fodYi pqudj viuh mÙkj iqfLrdk esa fyf[k, & ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 (i) ,d f=Hkqt esa gks ldrs gSa &  

 (a) nks ledks.k      (b) nks vf/kd dks.k 

 (c) vf/kd ls vf/kd nks U;wu dks.k  (d) rhuksa U;wu dks.k 

 

 

(ii) 
o










2

7
dk eku gksxk & 

 (a) 
2

7
       (b) 

7

2
 

 (c) 1       (d) 0 

 

 (iii) ,d pj okys jSf[kd lehdj.k ds gy gksrs gSa& 

 (a) ,d       (b) nks  

 (c) dsoy ,d      (d) dksbZ ugha 

 

 (iv) oxZ lehdj.k x2
 – 5x + 6 = 0 ds ewyksa dk ;ksxQy gksxk & 

 (a) 6       (b) 1 

 (c) 5       (d) – 5 

 

 (v) fp= esa ;fn ∠ ACB = 35° rks ∠ AOB dk eku gksxk 

 (a) 70°       (b) 35° 

 (c) 80°       (d) 180° 

 

 

 

 

 

 

 

A B

C

o

o
35
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 Choose the correct option and write it in your answer book.   

 (i) A triangle can have – 

 (a) Two right angles    (b) Two obtuse angles 

 (c) At the most two acute angles   (d) All three acute angles 

 

 

(ii) Value of 
o










2

7
 is – 

         (a) 
2

7
       (b) 

7

2
  

 (c) 1       (d) 0 

 

 (iii) Solution of a linear equation in one variable is– 

 (a) One       (b) Two 

 (c) Only one      (d) None of these 

 

 (iv) Sum of roots of a quadratic equation x
2
 – 5x + 6 = 0 is – 

 (a) 6       (b) 1  

 (c) 5       (d) – 5 

 

 (v) In fig. if ∠ ACB= 35°, then ∠AOB will be– 

 (a) 70°       (b) 35° 

 (c) 80°       (d) 180° 

 

 

 

 

 

 

A B

C

o

o
35
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iz-2 fjDr LFkkuksa dh iwfrZ djks &  

(i) ewy fcanq ds funsZ’kkad ---------------------------------------- gksrs gaSA  

(ii) ?kukHk dk vk;ru ---------------------------------------gksrk gSA 

(iii) oxkasZ ds e/; fcanqvkas dks ---------------------------------- dgrs gaSA 

(iv) izFke 10 izkÑr la[;kvkas dk ek/; ------------------------------- gSA 

(v) jSf[kd lehdj.k dh ?kkr ------------------------------------ gksrh gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks-  

(i) The Co – ordinates of the origin are ……………. . 

(ii) Volume of Cuboid is ………………….. . 

(iii) The mid points of a class are called ……………… . 

(iv) Mean of first 10 naturals numbers is…………….. . 

(v) The degree of a linear equation is …………….. . 

 

iz-3 fuEufyf[kr esa lR;@vlR; fyf[k, & 

(i) ,d vk;r dk izR;sd dks.k ledks.k gksrk gSA 

(ii) ,d oÙ̀k dh leku thok,¡ dsUæ ls leku nwjh ij gksrh gSaA 

(iii) 'kadq dk vk;ru π r
2
h gksrk gSA 

(iv) vk¡dM+ksa 8] 5] 2] 5] 3] 5] 3 dk cgqyd 2 gSA 

(v) ,d iklk mNkyus ij le vad vkus dh izkf;drk ½ gksrh gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Write True / False in the following – 

(i) Each angle of a rectangle is a right angle. 

(ii) Chords that are equidistance from the centre of a circle are equal. 

(iii) Volume of a cone is π r
2
h. 

(iv) Mode of the data 8, 5, 2, 5, 3, 5, 3 is 2. 

(v) When a die is tossed, probability of occurrence of 2 is ½.  
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iz-3 lgh tksfM+;k¡ cukb,&         

                    LraHk ^v^                         LraHk ^c^      

(i) a
m

 × a
n
     (a) 1 

(ii) a°      (b) foØ; ewY; &Ø; ewY; 

(iii) 15 : 20     (c) ew × n × l +@100 

(iv) ykHk      (d) a
m – n 

 

(v) lk/kkj.k C;kt    (e) 3 : 4 

                                                             (f)    a
m + n

 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Match the correct column –  

    Column A       Column B 

(i) a
m

 × a
n
     (a) 1 

(ii) a°      (b) S.P – C.P 

(iii) 15 : 20     (c) P × R × T/100 

(iv) Profit     (d) a
m – n

 

(v) Simple interest     (e) 3 : 4 

                                                             (f)    a
m + n

 

 

iz-5 ÁR;sd dk ,d 'kCn@okD; esa mÙkj fyf[k,& ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 (i) fcanq ¼&6] 5½ ds x funsZ’kkad rFkk y funsZ’kkad fyf[k,A 

(ii) f=Hkqt ds {ks=Qy dk lw= fyf[k,A 

(iii) 5 ls-eh- okys ¼Hkqtk½ ?ku dk vk;ru Kkr djksA 

(iv) 3-5 ls-eh- f=T;k ds o`Ùk dh ifjf/k Kkr djksA 

(v) vk¡dM+ksa 3] 6] 9] 12] 15] 18] 19 dh ekf/;dk D;k gS\ 

 

 Write the answers in one word / sentence of each –   

 (i) Write x and y co–ordinates of point ( –6, 5). 

(ii) Write down the formula of area of triangle. 

(iii) Find the volume of cube with edges 5cm.  

(iv) Find the circumference of a circle of radius 3.5cm.  

(v) Find the median of 3, 6, 9, 12, 15, 18, 19.  
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iz-6 gy dhft,&  27634 +   
Simplify-   27634 +        

vFkokvFkokvFkokvFkok@OR 

tksfM+,   –3x + 4  vkSj  2x
2
 – 7x – 2 

Add       –3x + 4  and 2x
2
 – 7x – 2 

¼2½¼2½¼2½¼2½ 

iz-7 240 dk fdrus izfr’kr 96 gS\    
What percent of 240 is 96?    

vFkokvFkokvFkokvFkok@OR 

vuqikr dks ljy :i esa fyf[k,% 
     65 fd +eh + % 91 fd +eh + 
Find the simplest form of the ratio: 

         65 km : 91 km 

¼2½¼2½¼2½¼2½ 

iz-8 
o`Ùk dh ifjf/k Kkr djks] ftldh f=T;k 11 ls +eh +gSA 








=

7

22
π     

Find the circumference of a circle whose radius is 11 cm.    
vFkokvFkokvFkokvFkok@OR 

fcanq ;qXe P(6, 8) rFkk Q (- 9, -12) ds chp dh nwjh Kkr djksA 
Find the distance between point P(6, 8) and Q (- 9, -12) 

¼2½¼2½¼2½¼2½ 

iz-9 ∆ ABC eas ∠C ij ,d ledks.k gS] ;fn tan A = 1 rks cos B dk eku Kkr djks 
In ∆ ABC, ∠C is a right angle, if tan A = 1, then find the value of cos B.     

vFkokvFkokvFkokvFkok@OR 

eku Kkr djks tan
2
 60° – sin

2
 30° 

Find the value of tan
2
 60° – sin

2
 30° 

¼2½¼2½¼2½¼2½ 

iz-10 fuEu vk¡dM+ksa dk ek/;d Kkr djks%    
Find the median of the following data: 

5, 6, 9, 3, 18, 16, 10 

vFkokvFkokvFkokvFkok@OR 

,d iklk ,d ckj mNkyus ij ,d fo"ke la[;k vkus dh izkf;drk Kkr djksA 
Find the probability of getting an odd number when a die is tossed once. 

¼2½¼2½¼2½¼2½ 

iz-11 eku Kkr djks (243)
2/5

     
Find the value of (243)

2/5    
vFkokvFkokvFkokvFkok@OR 

tksM+ks &  
1 -x 

1 2x +

 
rFkk    

1 x 

2 x 

+

+
 

Add –    
1 -x 

1 2x +

 
and  

1 x 

2 x 

+

+
 

¼¼¼¼3333½½½½ 
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iz-12 fuEu esa x dk eku Kkr djks     

Find the value of x in the following: 

        6:10 :: x : 20    
vFkokvFkokvFkokvFkok@OR 

,d fo|ky; eas dqy Nk= & Nk=kvksa esa ls 35% yM+fd;k¡ gSA ;fn fo|ky; esa  

dqy 1240 cPps] gaS rks fo|ky; esa yM+dkas dh la[;k Kkr djksA 

35% of students in a school are girls. If the total number of students is  

1240, find the number of boys in the school. 

¼¼¼¼3333½½½½ 

iz-13 2000 `- ij 3 o"kZ ds fy, 5% dh nj ls lk/kkj.k C;kt Kkr djksA    

Calculate the Simple interest on ` 2000 for 3 year at 5% per annum.    

vFkokvFkokvFkokvFkok@OR 

#i;s 154 dks 5%9 esa foHkkftr dhft, 

Divide  ` 154 in the ratio 5:9 

¼¼¼¼3333½½½½ 

iz-14 ,d prqHkqZt ds dks.k 5%7%7%11 ds vuqikr esa gaSA ÁR;sd dks.k dk eki Kkr djksA    

The angles of a quadrilateral are in the ratio 5:7:7:11. Find the measure of each 

angle.     
vFkok@OR 

 

fp= eas DE BC ,;fn AD ¾ 3 lseh] DB ¾ 5 lseh- 

rFkk AE ¾ 6 lseh gS rks AC ¾ dk eku Kkr djksA 

In fig. DE BC, if AD = 3 cm, DB = 5 cm 

and AE = 6cm. Find AC. 

¼3¼3¼3¼3½½½½ 

iz-15 dj.kh 3 6 5  o 
3 40 11  dks xq.kk dhft,A    

Multiply 3 6 5 and 3 40 11      

vFkokvFkokvFkokvFkok@OR 

oxZ lehdj.k 3x
2
 + 8x – 3 = 0 dks lw= fof/k ls gy djksA 

Solve the quadratic equation 3x
2
 + 8x – 3 = 0 using quadratic formula. 

¼4¼4¼4¼4½½½½ 

A

B C

D E

3cm

5cm

6cm
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iz-16 ,d vkVks Mhyj us 12% ykHk ls ,d LdwVj 22400 `- eas xzkgd dks cspk rks LdwVj 

dk Ø; ewY; Kkr djksA    

By selling a scooter to a customer for ` 22400 an auto dealer makes a profit of 

12%. Find the cost price of the scooter.      

vFkokvFkokvFkokvFkok@OR 

10]000 ` dk 2 o"kZ dk 8% okf"kZd C;kt dh nj ls pØo`f) C;kt Kkr djksA    

Calculate the compound interest on ` 10,000 for 2 years at 8% per annum. 

¼4¼4¼4¼4½½½½ 

iz-17 fp= eas o`Ùk dk dsUæ 0 gS rFkk ON ⊥ PQ ;fn PQ ¾ 8 lseh +  

vkSj ON ¾ 3lseh gks rks OP Kkr dhft, 

In figure O is the centre of the circle and ON ⊥ PQ.  

If PQ = 8cm and ON = 3cm, find OP.  

vFkokvFkokvFkokvFkok@OR 

,d f=Hkqt ds 'kh"kkasZ ds funsZ’kkad ¼3] &1½ ¼10] 7½ rFkk ¼5] 3½ gaaS] f=Hkqt ds dsUæd ds 

funsZ’kkad Kkr dhft,A 

The co–ordinates of the vertices of a triangle are (3, -1) (10, 7) and (5, 3).  Find 

the co–ordinates of its centroid.  

¼4¼4¼4¼4½½½½ 

iz-18 ,d f=Hkqtkdkj [ksr dh Hkqtk,as 165 eh +]143 eh +rFkk 154 eh +gSaA bl [ksr dk {ks=Qy 

Kkr djksA 

The sides of a triangular field are 165m, 143m, and 154m. Find the area of  the 

field.     

vFkokvFkokvFkokvFkok@OR 

,d yEc oÙ̀kh; csyu ftldh f=T;k 7 eh] rFkk ÅapkbZ 10 eh +gS mldk vk;ru o 

dqy i`"Bh; {ks=Qy Kkr djksA 

Find the volume and the total surface area of a right cylinder whose radius is 

7m and height is 10 m. 

¼4¼4¼4¼4½½½½ 

P N Q

O
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iz-19 fp= esa ∆PQR, ∠Q ij ,d ledks.k f=Hkqt gS]  

;fn PR ¾ 25 lseh] QR ¾ 7 lseh] ∠ RPQ = θ 

gks rks tan θ, cosec θ vkSj sec θ ds eku Kkr djksA 

In ∆PQR, in fig.,right angle is 

at Q, PR = 25cm, QR = 7cm  

and ∠ RPQ = θ  

find tan θ, cosec θ and sec θ    

vFkokvFkokvFkokvFkok@OR 

fl) djks%             

Prove that 

cosecA 2
A sin

A cos1

A cos1

A sin
=

+
+

+
 

¼4¼4¼4¼4½½½½ 

iz-20 20 fo|kfFkZ;ksa ds fdlh d{kk ijh{kk esa izkIrkad fuEu gSa& 

10] 15] 9] 16] 25] 30] 14] 8] 29] 15] 4] 7] 12] 13] 14] 18] 19] 16] 29] 7 

4 dk oxZ varjky ysdj mijksDr vkdM+ksa ds fy, ,d ckjackjrk caVu lkj.kh  

cukvksA      

The marks obtained by 20 students in a class test are given below:  

10, 15, 9, 16, 25, 30, 14, 8, 29, 15, 4, 7, 12, 13, 14, 18, 19, 16, 29, 7 

Construct a frequency distribution table with a class size of 4.   

vFkokvFkokvFkokvFkok@OR 

fuEu vk¡dM+ksa dk ek/;d Kkr djks 

16] 4] 18] 25] 17] 19] 12] 20] 15] 7     

Find the median of the following data: 

16, 4, 18, 25, 17, 19, 12, 20, 15, 7 

¼4¼4¼4¼4½½½½ 

P
θ

Q

R

cmlseh@25

cmlseh@7
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iz-21 fuEu oxhZÑr vk¡dM+ksa dk ek/; Kkr djks & 

Find the mean of the following grouped data: 

oxZ 

classes 
0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60-70 

ckjackjrk 

frequencies 
1 3 5 7 5 3 1 

vFkokvFkokvFkokvFkok@OR 

,d iklk ,d ckj mNkyk x;kA fuEu ds vkus dh izkf;drk Kkr djks& 

(i)  la[;k 2                                        (ii) le la[;k 

A die is tossed once, find the probability of occurrence of : 

(i)    2                            (ii)   an even number     

¼4¼4¼4¼4½½½½ 

iz-22 fuEu lehdj.k fudk; gy dhft,%    

Solve the equation: 

           x – 2y = 7 

           3x + y = 35    

vFkokvFkokvFkokvFkok@OR 

,d la[;k vkSj mlds O;qRØe dk ;ksx 
4
17
gSA la[;k Kkr djksA 

The sum of a number and its reciprocal is 
4

17

 
, find the number. 

¼5¼5¼5¼5½½½½ 
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iz-23 prqHkqZt ABCD dh jpuk dhft, ftlesa AB ¾ 3 lseh +] BC ¾ 3-5 lseh +]        

CD ¾ 4-1 lseh +] AD ¾ 3-8 lseh + vkSj fod.kZ BD ¾ 5 lseh +A    

Construct a quadrilateral which has AB = 3cm, BC = 3.5cm,CD = 4.1cm and 

AD = 3.8 cm and diagonal BD = 5 cm.    

vFkokvFkokvFkokvFkok@OR 

d f=Hkqt ABC esa PQ, AB rFkk AC dks Øe’k% P rFkk Q ij dkVrh gS] rFkk  

PQ BC, ;fn 
3

2

BP

AP
= gS] rks ∆APQ rFkk ∆ ABC ds {ks=Qykas dk vuqikr  

Kkr djksA  

The ∆ ABC, PQ  BC and intersects  

AB and AC at P and Q respectively.  

If 
3

2

BP

AP
= , find the ratio of areas  

of  ∆ APQ and ∆ ABC. 

¼5¼5¼5¼5½½½½ 

iz-24 ,d xksys dk vk;ru o i`"Bh; {ks=Qy Kkr djks ftldh f=T;k 10-5 lseh +gSA    

Find the surface area and the volume of a sphere of a radius 10.5cm.     

vFkokvFkokvFkokvFkok@OR 

,d ?kukHk ds layXu Qydksa dk {ks=Qy x y rFkk z z gSA ;fn mldk vk;ru v gS rks 

fl) djks fd v2
 = xyz.  

The areas of three adjacent faces of a cuboid are x, y and z. If its volume is v, 

prove that v
2
 = xyz.   

¼5¼5¼5¼5½½½½ 

A

B C

P Q
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iz-25 eku Kkr djks & 
Evaluate- 

      
o

o

o

o

58 cosec

32 sec

47 sin

43 cos
+     

vFkokvFkokvFkokvFkok@OR 

loZlfedk fl) djks    &&&&    
Prove the identities - 

   
A sin

A cos 1

A cos 1

A cos 1 +
=

−

+
 

¼5¼5¼5¼5½½½½ 

iz-26 fuEu oxhZÑr vk¡dM+ksa dk ek/; ^^y?kq fof/k^^ }kjk Kkr djksA 
Find the mean of the following grouped data using short cut method: 

oxZ 

Class 
10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

ckjackjrk 
Frequencies  

6 8 13 7 4 2 

vFkokvFkokvFkokvFkok@OR 

fdlh fo|ky; dh d{kk X ds 30 fo|kfFkZ;ksa ds Hkkj dk caVu uhps fn;k x;k gSA 
vk¡dM+ksa ds fy, ,d vk;r fp= cukb,A    
The following is the frequency distribution of weights of 30 students of  

class X of a school. Draw a histogram to represent the data: 

oxZ    

Class    
45– 50 50 – 55 55 – 60 60 – 65 65 – 70 Total 

ckjackjrk    

Frequencies  
3 7 12 5 3 30 

 

¼5¼5¼5¼5½½½½ 

 

 

------------------------------- 

    
    


